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EFE 897 97 14 44 90 6 30 25 - 1 4 20 196 2 112 310 25 9 64 6
E&Fmh 200 48 1 24 47 1 — — — — — — 3 — 36 58 7 — — -
EA 108 4 - 2 15 2 4 2 - 1 1 - 14 - 9 60 - - 10 -
L+ H 105 5 2 3 1 - 2 2 - - = - 45 - 10 41 - 1 16 -
il 60 7 1 4 5 — 4 4 — - - 2 42 — — — - - 4 1
LBk 22 5 - — 1 — 6 6 — — — 3 5 — — — - 2 — 1
R A 69 10 5 4 2 2 2 - - - 2 - 2 - 9 42 - = - -
A= 77 2 - 1 2 - 1 1 - - - - 14 - 26 17 11 4 - 2
(AN 34 2 1 1 8 - 2 1 - - 1 3 18 - - - - 1 8 -
KHET 54 8 2 5 3 - 4 4 - - - 10 8 2 - 18 - 1 4 2
£ 93 2 1 — 3 1 4 4 — — — 19 — 16 45 3 — 7 —
g 75 4 1 - 3 — 1 1 — — — 2 26 — 6 29 4 — 15 —
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EHE 54231 7,820 1049] 5246 4416] 348] 1,736 1,191 - 25 520 954 8,389 103 | 9,073 19,859 [ 1,146 387 1,607 364
EHh 15,559 | 4,248 83| 3496 2559 107 - - - - - - 296 -] 5452 2,661 236 - - -
1EA 7,086 392 — 149 518 82 73 35 - 25 13 — 1,304 -] 846 | 3,871 — — 313 —
L H 6,189 572 230 342 158 - 21 21 - - - — 1,861 -] 435] 3117 - 25 365 -
A 1,420 517 33 271 64 - 124 124 - - - 50 665 - - - - - 58 128
ki 540 118 — — 13 - 144 144 - - - 84 157 - - - - 24 = 7
R H 5,667 682 481 445 39 52| 452 - - -] 452 — 44 -] 904 3494 - - — -
E 3,021 126 - 34 53 - 21 21 - - - - 494 -] 631 973 466 257 - 126
A 2,068 192 8 10 503 - 119 64 - - 55 55 1,178 - - - - 21 287 -
KHET 3,985 679 110 499 83 -] 355 355 - — — 629 283 103 -] 1,793 - 60 94 103
£ 4,990 29 9 - 166 | 107 382 382 - - - - 1,169 -] 603 2,374 160 - 266 -
JtiE 3,706 265 95 = 260 - 45 45 - - - 136 938 -1 202 1576 284 - 224 -
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